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&S FR el BE#(GEL) KR FAEH (£2) AR S
19194  |604% Bt ERT HY (BETIEARW) 4A2H ) NR— b & A< —
19195 |204% Legc IR HY (BETEAEW) 4828 HY Eyan=|

19196  [204% peq L ERT HY (BETIEARW) 4A2H ) E=vad=|

19197 |104% Eegc BRREREN HY (BETEAEW) 4B1H HY L

19198 |10m%kim |zt ERT HY (BETIEARW) 4A2H HY (BB - REMEKTD) L

19199 |204% S IR HY (BETEAEW) 4828 - RNBE

19200 [104% peq L B RREREN HY (BETIEARW) 4A2H ) L

19201 |104% Eegc BRREREN HY (BETEAEW) 4828 HY L

19202 [204% Bt B RRERREN HY (BETIEARW) 4A2H »Y (Bii559) E=zan=|

19203  [304% peq L BRREMEN HY (BETIEARWL) 4A3H - EilzNa=}

19204 |704% Bt B RRERREN HY (BETIEARW) 4A1H ) BEZ

19205 |704% Eegc BRREREN HY (BETEAEW) 4B1H HY BEX

19206  [304% peq L bty HY (BETHEARWL) 4A1H - NR— b & A <—
19207 |104% S =RHET HY (BETEAEW) 4828 - L

19208 |10m%kim | Btk EIRT HY (BETIEARW) 4A2H - AL

19209 |104% S IR HY (BETEAEW) 4R 3H - 5L
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=l FHK TR BE#CED FER FAEH(E2) it E EEES
19210 [304% peq L ERT HY (BETIEARW) 4A3H - AL
19211 |104% S IR HY (BETEAEW) 4R 3H - L
19212 |10m%kim |zt KD ET HY (BETIEARW) 4A3H - AL
19213 |10k (B SR AT HY (BETEAEW) 4R 3H HY (HFE - REMHEKS0) L
19214 |10/ | B BRREFTEN HY (BETIEEW) 4848 HY (EnEmER24) 5L
19215 |10k |ZME BRREREN HY (BETEAEW) 4R 3H HY (SEHEER24) L
19216 |107 i |Z1E BRREFTEN HY (BETEEW) 482H HY) 5L
19217 |10k |ZME SR AT HY (BETEAEW) 4R 3H HY (HFE - REMHEKS0) L
19218 |30f% B SRR HT HY (BETIEAW) 4R 3H HY (B%59) E=yan =
19219  [404% St BRREFTERN HY (BETEAEW) 48 1H HY (B%59) 248
19220 [301% S BRREFTEN HY (BETIEAEW) 482H »HY (B3559) E=gan=|
19221 |10 |ZME IR HY (BETEAEW) 4R 3H HY (HE - REMEKTS) L
19222 [304% Bt ERT HY (BETEARW) 3A826H ) E=vad=|
19223  |204% B bk HY (BETEAEW) 3A29H HY Eyan=1|
19224 |704% S el ) HY (EFETIEHRL) 3830H HY (RR—VEE16) mL
19225 [304% Legca t&E™ HY (BETEAEW) 4828 - 2N
19226 [304% peqi3 Em HY (BETEARW) 4A2H - E=van=|
19227 |10mA0E |ZME bk HY (BETEAEW) 4828 - L
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19228 |601% S REBRIEFTEN HY (BETIEEW) 481H »H'Y) (B3555) TILNA b
19229 |10/k7E |B14E FERRBATE RN HY (BETEAEW) 48 2H HY (RR—VEELG) L
19230 [304% peq L F(E= i HY (BETIEARW) 4A1H ) Eilzy=3=}
19231  |404% B bk HY (BETEAEW) 4828 HY BEx
19232 |704% peqi3 Em HY (BETIEARW) 3829H - NR— b & A <—
19233 |10f% g PEANES BT HY (BETEAEL) 4828 »HY (B%55) L
19234 [104% peqi3 s[5 HY (BETIEARW) 4A1H ) L
19235 |10mA0m |ZME HEMREEFTE W HY (BETEAEW) 4R 3H HY 3L
19236  [301% pegis REBRIEFTEN HY (BETIEEW) 3H29H HY) E=gan=|
19237 |104% Legc HEMREEFTE W HY (BETEAEW) 4828 HY 5L
19238 |504% % el ) HY (EFETIEHRL) 4A2H - E=gan=|
19239 |104% 7 bk HY (BETEAEW) 3A31H HY L
19240 |504% pegis REBRIEFTEN HY (BETIEEW) 481H HY (B - REERTT) IR
19241  [304% gl = | laly o} HY (BETEAEW) 48 1H HY (BIH57) 248
19242 |104% peq L F( =i HY (BETIEARW) 4A3H ) L
19243 [104% St FERRBFTE XN HY (BETEAEW) 4F3H HY (RR—VEELG) 3L
19244 |107% k0 | B4 REBRIEFTEN HY (BETIEEW) 482H HY) 5L
19245 |10/K7 | &4 = | laly o} HY (BETEAEW) 48 1H HY (RR—VEELG) 3L
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19246  |10m%kim |zt F( =i HY (BETIEARW) 4A3H - AL
19247 |10mKT | &4 = | laly o} HY (BETEAEW) 48 2H HY (RR—VEELG) L
19248  |604% Bt AR AT E N HY (BETIEARW) 4A2H ) E=vad=|
19249  [504% Legc HEMREEFTE W HY (BETEAEW) 4828 HY L
19250 [10m%kim | Btk AR AT E N HY (BETIEARW) 4A3H - AL
19251 |10mkiE (B HEMREEFTE W HY (BETEAEW) 4828 - L
19252  |10m%kim | Btk s[5 HY (BETEARL) 4A3H - AL
19253 |104% 7 bk HY (BETEAEW) 4828 HY L
19254 |204% % el ) HY (EFETIEHRL) 3831H &HY) B NS
19255  |404% 7 =l HY (BETEAEW) 4R 3H HY Eyan=|
19256  [204% Bt AR AT E N HY (BETIEARW) 4A1H ) E=vad=|
19257 |704% Legc Eipah=4:ii) HY (BETIEAEL) 4848 HY %L
19258  [204% Bt Em HY (BETHEARL) 4A2H - E=van=|
19259 [504% S t&E™ HY (BETEAEW) 3A31H - E=yan=|
19260 [204% Bt s[5 HY (BETEARL) 4A3H - E=van=|
19261 |90 £ |Z1E HEMREEFTE W HY (BETEAEW) 4R 3H HY L
19262  [304% peq L AR AT E N HY (BETEARW) 4A3H ) E=vad=|
19263 [504% Eegc t&E™ HY (BETEAEW) 4828 - RNBE
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19264 |10/A0H |22tk tEmm HY (BETIEEW) 4848 HY (B - REMERSL) %L
19265 |40f% B4 = | laly o} HY (BETEAEW) 4848 HY (HE - REMEKSD 248
19266 |104% Eegca el ) HY (EFETIEHRL) 4A3H HY (RR—"VEE1L6) mL
19267 |10mKi |&14E = | laly o} HY (BETEAEW) 4R 3H HY (RR—VEELG) L
19268 |10mAKuE |B1E el ) HY (BETIEEW) 473H HY (RKR—VESN16) 7L
19269 |104% Legc t&E™ HY (BETEAEW) 38298 - L
19270 [504% S B4 (det) HY (BETEEW) 3H30H - E=gan=|
19271  [204% St B4 JeL™) HY (BETEAEW) 38278 - 2t 8
19272 |404% % el ) HY (EFETIEHRL) 3830H &HY) =ft8
19273 |404% B =l HY (BETEAEW) 4R 3H - E=yan=|
19274 |10m K04 | B BN HY (EFETIEHRL) 4A2H HY (RR—"VEEHIT) mL
19275 [604% Legc BN HY (BETEAEW) 4B1H HY (SiHEMEK25) SilzN: =]
19276 |604% S BN HY (EFETIEHRL) 4A1H - SilZNi3=]
19277 |304% Eegc BN HY (BETEAEW) 4R 3H - L
19278 |401% pegis BN HY (BETEEW) 483H - BEX
19279 [504% S BN HY (BETEAEW) 4R 3H - E=yan=|
19280 |l0m%kim |zt B3 HY (BETEARW) 4A4H HY) (ZBE—VEHILT) L
19281 [304% ik BINRERTE N HY (EFETIEHRL) 482H - =B
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19282  [304% peqi3 B HY (BETIEARW) 4A2A ) E=vad=|
19283 |304% Legc BN HY (BETEAEW) 4B1H HY SifzNid=]
19284 |10m K0 | B BN HY (EFETIEHRL) 4A3H HY (RR—"VEEHIT) mL
19285 |104% S BN HY (BETEAEW) 4R 3H - L
19286  [501% pegis BN HY (BETIEEW) 3A31H - BEX
19287 |604% S BN HY (BETEAEW) 4R 3H - SifzNid=]
19288  |404% peqi3 B HY (BETIEARW) 4A1RH ) E=vad=|
19289  |604% Bk BN HY (BEETEARW) 3A31R ) L
19290 |704% peqi3 B HY (BETEARW) 4A4R - Bl
19291 |30f% 7 BN HY (BETEAEW) 3A31H HY (RR—VEET) L
19292 |104% pegis BN HY (EFETIEHRL) 4A2H HY (RR—"VEEHIT) mL
19293 |10/&K7 | &4 BN HY (BETEAEW) 4R 3H HY (RR—VEET) L
19294 |10mKT | & BN HY (BETEAEW) 48 4H HY (RR—VEEHLT) L
19295 |304% S BN HY (BETEAEW) 4R 3H - E=yan=|
19296 |104% pegis BINREATEN HY (EFETIEHRL) 4741 HY (RR—"VEEHILT) mL
19297 |10m&K7E | &1 BN HY (BETEAEW) 48 2H HY (RR—VEET) 3L
19298 [301% pegis BINRETEN HY (BETIEEW) 482H - N— b+ ZA<—
19299 |304% S BNRIEFTE A HY (BETEAEW) 4828 - e 2N
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19300 [50% pegis BINREATEN HY (BETIEEW) 482H - E=gan=|
19301 |10/&=Ki |&14E BN HY (BETEAEW) 48 4H HY (RR—VEET) L
19302 |10m%RiE | B4 B HY (BETIEARW) 4A3A - B L
19303  |10m%Rim |Zi BN HY (BEETEARW) 4A2AR - i L
19304 [104% Bt B HY (BETIEARW) 4A3A - Bl
19305 |10/&=kKi |14 BN HY (BETEAEW) 48 4H HY (RR—VEET) L
19306 |104% pegis BN HY (EFETIEHRL) 4H3H HY (RR—"VEEHILT) mL
19307 |10/&=kKi |B14E BN HY (BETEAEW) 4R 3H HY (RR—VEET) L
19308  [404% Bt B HY (BETEARW) 4A4R - =H8
19309 [504% Bk BN HY (BEETIEARW) 4A3H - Eifzid=]
19310 |10m%Ri |« B HY (BETIEARW) 4A3A HY (RF—VEHIT) L
19311 |10/&k7s |B14E BN HY (BETEAEW) 4R 3H HY (RR—VEET) L
19312 |704% S BN HY (BETIEAEW) 481H - E=gan=|
19313 |304% geqc3 BN HY (BEETIEARW) 4A4R - Eevan=|
19314  [301% pegis BINREFTEN HY (BETIEAEW) 4848 HlY) (RR—VEEHIT) E=gan=|
19315 |704% Legc BNRIEFTE A HY (BETEAEW) 4B1H HY) SifzNiEd=]
19316 |10/ |Z1k BINREATEN HY (BETIEAEW) 483H »H'Y) (H3558) 5L
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19317 |10m i |Z1E BINREATEN HY (BETIEEW) 483H »H'Y) (H3558) %L
19318 |80f% St BN T HY (BETEAEW) 48 4H »HY (B%58) 3L
19319 [301% S BN IR 4848 »H'Y) (B3558) E=gad=|
19320 |404% Eegc BNRIEFTE A HY (BETEAEW) 4848 HY Eyan=1|
19321 |10m%Ri |« B HY (BETIEARW) 4A4R HY) (ZBE—VEHLT) L
19322  |404% S BN HY (BETEAEW) 4848 - BEx
19323 [204% geqi3 B HY (BETIEARW) 4A4R - Bl
19324  |30f% St BN HY (BETEAEW) 48 2H HY (RR—VEET) 248
19325 [704% Bt B HY (BETIEARW) 3A30H - Bl
19326  |401% ik BN HY (EFETIEHRL) 4848 HY (EinEMEE%25) SifzNi=q=]
19327 |90/ L Btk BINREATEN HY (BETIEEW) 4848 HY (SknEMEEK25) 5L
19328 [801% ik BINGRERTE N SEREIR 4A3H HY (EinEMEE%25) %L
19329 |90/ L %tk BINRETEN IR 4848 HY (SEnEMER25) 5L
19330 |90/ L |Zik BINGRERTE N SEREIR 4848 HY (EinEMEE%25) %L
19331 [801% S BINRETEN IR 4848 HY (SEnEMER25) 5L
19332 [801% Bk BINGREFTE N SEREIR 4848 HY (EinEMEE%25) %L
19333 [801% S BNREPTEN IR 4848 HY (SnEMER25) %L
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19334 |10m K | B BN HY (EFETIEHRL) 4H4H HY (RR—VEEHIT) mL

19335 [604% Bk BN HY (BEETIEARW) 4A3H - E-van=|

19336 |504% M &7 I ET HY (EFETIEHRL) 4H3H - E=gan=|

19337 |10/&ki | &4 BN HY (BETEAEW) 4F3H HY (RR—VEET) 3L

19338 |10mKiH | & BINREFEA HY (BETEAEW) 483H HY (RR—VEEHLT) L

19339 |10/EKiH |B14E BN HY (BETEAEW) 4F3H HY (RR—VEET) L

19340 |404% Bt —Rdh HY (BETIEARW) 4A3A ) =18

19341  [104% St —Bam HY (BETEAEW) 4F3H HY (RR—VEED) L

19342  [104% Bt —Rdh HY (BETIEARW) 4A3A HY (RF—VEH15) L

19343  [104% St —Bam HY (BETEAEW) 48 2H HY (RR—VEED) L

19344 [104% Bt —Rdh HY (BETIEARW) 4A3A HY (RF—VEH15) L

19345 [104% St —Bam HY (BETEAEW) 48 2H HY (RR—VEED) L

19346  [401% pegis —BREMEA HY (BETIEEW) 482H - N—=hRA<—
19347 |304% Legc —BREFERN HY (BETEAEW) 4R 3H - E=yan=|

19348  |404% peqi3 —Rah HY (BETIEARW) 3A31H ) =18

19349  |404% Legc —Eh HY (BETEAEW) 4R 3H HY SifzNid=]
19350 [304% B —Rah HY (BETIEARW) 4A1RH ) £#8
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19351  [304% peq L —BgmH HY (BETIEARLW) 3A31H HY (BB - REMEKTS) E=vad=|
19352 |204% Eegc —Eh HY (BETEAEW) 4B1H - E=yan=|
19353 [204% peq L —BgmH HY (BETIEARW) 4A2H HY (BB - REMEKTL) N— bt &A= —
19354  [504% peq L —Bm HY (EETEARWL) 4828 HY (BB - REMEHKTD NR— b &A= —
19355  [404% peq L —BgmH HY (BETIEARW) 3829H HlY (BB - REMEKTS) BileS:a=]
19356 |20f% S —Bm HY (BETIEARWL) 3A31H ) Eevan=|
19357  [501% B —Bmh HY (BETEAEW) 4818 - 218
19358  [504% peq L —Bm HY (BETIEARWL) 4A3H - £it8
19359  [204% peq L —BgmH HY (BETIEARW) 4A4H ) NR— b & A< —
19360 |40f% peq L —Bm HY (BETIEARWL) 4A4H ) NR— k&< —
19361 [104% peq L —BgmH HY (BETIEARW) 4A2H ) E=vad=|
19362 [304% peq L —Bm HY (BETIEARWL) 4A3H HY Eevan=|
19363 [104% Bt —BgmH HY (BETEARW) 4A3H ) L
19364 [504% peq L —Bm HY (BETIEARWL) 4A1H - AL
19365 [504% Bt —BgmH HY (BETIEARW) 3A28H - E=van=|
19366 [804% peq L —Bm HY (BETIEARWL) 4828 - AL
19367 |704% Bk KA HY (BETIEARW) 4A1H ) E=vad=|
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19368 [801% S KT IR 4848 HY) 3L
19369 |10f% peq L RAE HY (BEETIEARW) 3827H HY L
19370 [104% peq L KA HY (BETIEARW) 3A828H HY L
19371 [104% S B (CKAET) HY (BETIEAW) 4828 HY (F#103) mL
19372 [504% S = HY (BETIEAEW) 482H HY) E=gan=|
19373  |204% S EHREMEN HY (BETEAEW) 4B1H HY Eyan=|
19374  [304% pegis ARREFTEAN HY (BETIEEWL) 482H HY) E=gan=|
19375 [301% Bk ARREFTEN HY (EIETIEAEW) 4A3H HY =ft8
19376 |10m i |Z1E ARREFTEA HY (BETIEEWL) 3A31H HY 5L
19377 |504% S AR™ HY (BETEAEW) 4828 - SilzN:g=]
19378 [501% pegis AT HY (BETIEEW) 3A31H HY) BEX
19379  |404% S AR™ HY (BETEAEW) 4B1H HY RNIBE
19380 [20% S ARREFTEAN HY (BETIEEW) 4848 HY) E=gan=|
19381 |204% Legc ARREFTERN HY (BETEAEW) 4828 HY BilzN: 9=
19382 [601% pegis ARREFTEAN HY (BETIEEW) 481H HY) 5L
19383  [404% Bk ARREFTEN HY (EIETIEAEW) 3A31H - =B
19384 |10/ |B 14 ARREFTEAN HY (BETIEEW) 483H HY) 5L
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19385 |10m%kim |zt ATIRBEFTE N HY (BETIEARLW) 4A1H ) L
19386  [304% peq L ARIREFTEN HY (BETIEARWL) 4A2A ) N3]
19387  |404% Bt AFEH HY (BETIEARW) 4A2H ) E=vad=|
19388  [304% S ARIREFTEN FERER 4828 HY (BEEHE26) EilzN3s]
19389 [804% peq L AIREFTE N HY (BETIEARW) 4A3H HY (SmEHER26) #L
19390 |70f% S ARIREFTE N HY (BETIEARWL) 4A3H HY (BEEHE26) AL
19391 [90m M £ |BiE ATIREFTE N HY (BETIEARW) 4A3H HY (SmEHER26) #L
19392 (804 peq L ARIREFTE N HY (BETIEARWL) 4A3H HY (BEEHE26) AL
19393 (907 £ |BiE ATIREFTE N HY (BETIEARW) 4A4H HY (SmEHER26) #L
19394  [90FEM £ |ZcitE ARIREFTE N FERER 4A3H HY (BEEHE26) AL
19395  [204% Bt AFEH HY (BETIEARW) 3A30H - E=van=|
19396 |10mkim (B —Fm HY (EETIEAEW) 4R 3H HY mL
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